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TA (ENGLISH + GS) TEST PAPER

ENGLISH/ANTONYM EXERCISE

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

He is an industrious workman.

(A) active (B) productive

©) lazy (D) disloyal

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

Plants grow in abundance here.

(A)  shrivel (B)  stretch

(C)  spread (D)  enlarge

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

She rarely comes here.

(A)  seldom (B) never

(C) always (D) frequently

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

She is a rather crooked woman.

(A)  polite (B) generous

(C)  straightforward (D)  happy

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your response
in your Answer Sheet accordingly.

Spring is a time of plenty.

(A) ugliness (B) scarcity

(C)  roughness (D)  dryness

ENGLISH/COMMON ERROR

You have been given a sentence in which there is some error. you are required to find out that part
sentence and mark it as your answer on the answer sheet. Error may be related to grammar,
construction usage or anything else.

(A)  We must sympathize (B)  for others

(C)  intheir troubles (D)  No error

You have been given a sentence in which there is some error. you are required to find out that part
sentence and mark it as your answer on the answer sheet. Error may be related to grammar,
construction usage or anything else.

(A) Had | not taken ill, (B) | would have sent you

(C)  my research paper much earlier (D)  No error

You have been given a sentence in which there is some error. you are required to find out that part
sentence and mark it as your answer on the answer sheet. Error may be related to grammar,
construction usage or anything else.

(A) He had gone (B)  home three weeks ago and was expected
(C) back yesterday, but he has not come yet. (D)  No error
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17.

You have been given a sentence in which there is some error. you are required to find out that part

sentence and mark it as your answer on the answer sheet. Error may be related to grammar,

construction usage or anything else.

(A) The barn owl helps the farmer by(B) rats which could, if left unchecked,
destroying

(C)  do alot of damage to the crops. (D) Noerror

You have been given a sentence in which there is some error. you are required to find out that part

sentence and mark it as your answer on the answer sheet. Error may be related to grammar,

construction usage or anything else.

(A) | asked him that (B)  why he was angry
(C)  but he did not answer (D) Noerror
ENGLISH/PASSIVE VOICE

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.

Robin would draw a picture in the competition.

(A) In the competition Robin would have to(B) A picture in the competition would have

draw a picture. been drawn by Robin.
© In the competition Robin would be drawn a(D) A picture would be drawn by Robin in the
picture. competition.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.
The noise of the traffic kept me awake.

(A) I remained awake by the noise of the(B) | was kept waking by the noise of the
traffic. traffic.
© | was kept awake by the noise of the traffic. (D)  The traffic kept me awake by the noise.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.
Prepare yourself for the worst.

(A)  You be prepared for the worst. (B)  The worst should be prepared by yourself.
© Be prepared for the worst. (D)  For the worst, preparation should be made
by you.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.

They have cut all the telephone wires.

(A)  All the telephone wires will be cut. (B)  All the telephone wires had been cut.

(C)  All the telephone wires have been cut. (D)  All the telephone wires shall be cut.

In the questions below the sentences have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given sentence in Passive/Active voice.

The shopkeeper lowered the prices.

(A)  The prices lowered the shopkeeper. (B) The prices were lowered by the
shopkeeper.
© Down went the prices. (D)  The shopkeeper got down the prices.

ENGLISH/SENTENCE IMPROVEMENT EXERCISE

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

He is definitely the cleverer among the two.

(A) in (B) of

(C) than (D)  No improvement

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

He is resembling his father.

(A)  hasresembled (B)  was resembling

(C) resembles (D)  No improvement
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Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

A majority of the passengers could have been saved if the driver had applied the brakes in time.

(A) had been saved (B) may have been saved

(C) could have saved (D)  No improvement

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

| can be grateful if you could write to me about it.

(A)  would be (B)  should be

(C)  mustbe (D)  No improvement

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

Would you mind closing the window ?

(A) toclose (B) in closing

(C) for closing (D)  No improvement

ENGLISH/FILL IN THE BLANKS EXERCISE AND SPOTTING ERRORS

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

......... the broker had warned him that the stock was a ............ investment, he insisted on buying a
thousand shares.

(A) Because; prudent (B) Since; negligible

(C)  Although ;precarious (D)  As; vulnerable

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

The activities of the association have ........ from the ......... objectives set for it in the initial years.
(A) Grown ;simple (B) Deviated ;original
© Details ; grand (D) Emerged ; total

Each of the following sentences in this section has a blanks space and four words or group of words
given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response the Answer Sheet accordingly.

Those suffering from glaucoma find that their............ vision is and that they can no longer see
objects not directly in front of them.

(A) Optical ; distorted (B) Peripheral; demurred

©) Periphrastic; demurred (D)  Peripatetic ; diminished

ENGLISH/IDIOMS AND PHRASES

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response
in your Answer Sheet accordingly.

A clarion call
(A)  Atrumpet call (B)  Anintimidating voice
(C) A strong request (D)  Anurgent order

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.
Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response
in your Answer Sheet accordingly.

Turn topsy-turvy

(A)  To completely change something (B)  To completely evaluate something

(C)  To enjoy yourself greatly (D)  To exhaust yourself completely
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Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response

in your Answer Sheet accordingly.

A hunky-dory situation

(A)  There are serious issues among people  (B)  There are no problems and people are
happy

(C)  There is war and bloodshed all over (D)  There is no work, only enjoyment

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response

in your Answer Sheet accordingly.

Fire in the belly

(A) Fear and hatred (B) Powerful ambition

(C) Love and dedication (D) Lethargy and indifference

Directions : Given below are some idioms/phrases followed by four alternative meanings to each.

Choose the response (a), (b), (c) or (d), whichever is the most appropriate and mark your response

in your Answer Sheet accordingly.

Give somebody a leg up

(A)  To pull someone down (B)  To deceive and betray someone

(C)  To help someone for their livelihood (D)  To help someone to be successful

ENGLISH/SPELLING TEST

Find the correctly spelt word.

(A)  Adviceable (B)  Advisable
(C)  Advicable (D)  Adviseable
Find the correctly spelt word.

(A) Interegnum (B) Intregnum
© Interregnum (D) Interregnim
Find the correctly spelt word.

(A) Puerille (B) Puerrile
(C)  Puerile (D)  Purrile

ENGLISH/SYNONYMS EXERCISE

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

My daughter is my replica.

(A)  pride (B) clone

(C) love (D)  original

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

She undertook a reconnaissance of the entire issue.

(A) revaluation (B) ratification

(C) investigation (D)  regularization

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

Arrogance is a hallmark of his nature.

(A)  concern (B)  unpretentiousness

(C)  conceit (D)  simplicity

Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

The sardonic nature of her stories made her stand out among the contemporary writers.

(A) compassionate (B) insightful

(C)  mocking (D)  comic
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Directions : Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is nearest in meaning to the underlined word and mark your response in
your Answer Sheet accordingly.

She is a patron of art and culture.

(A) entrepreneur (B) admirer

(C)  critique (D)  backer

ENGLISH/ONE WORD SUBSTITUTION

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A name adopted by an author in his writings

(A) Nickname (B) Pseudonym

(C)  Nomenclature (D) Title

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

Something that can be heard

(A)  Auditory (B)  Audio-visual

(C)  Audible (D)  Audition

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A place where everything is perfect.

(A)  heaven (B)  platoon

(C)  cosmos (D)  utopia

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A plant or animal living on another.

(A) parasite (B) hydra

(C)  creeper (D)  bush

In questions given below out of four alternatives, choose the one which can be substituted for the
given word/sentence.

A sweet music.

(A) lullaby (B) melody
(C) folk song (D)  duet
ENGLISH/PASSAGE

Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a
curtailment of private liberty in order that you may enjoy a social order which makes your liberty a
reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we
must have a judicious mixture of both. | shall not permit any authority to say that my child must go to
this school or that, shall specialize in science or arts. These things are personal. But if | say that my
child shall have no education at all, then society will firmly tell me that my child must have education
whether | like it or not.

The author is of the view that we should :

(A) have absolute individual liberty without any (B) have everything controlled by the society

restrictions imposed by the society without any kind of individual liberty
(C) try to strike a sensible balance between(D) have more of social liberty than individual
our individual liberty and our social liberty liberty
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Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a
curtailment of private liberty in order that you may enjoy a social order which makes your liberty a
reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we
must have a judicious mixture of both. | shall not permit any authority to say that my child must go to
this school or that, shall specialize in science or arts. These things are personal. But if | say that my
child shall have no education at all, then society will firmly tell me that my child must have education
whether | like it or not.

According to the author, the "rule of the road" implies :
(A)  the rule regulating the traffic ontheroad (B)  the principle on which a road is constructed
to ensure safe traffic
(C)  unrestricted freedom for all to lead a happy(D)  restricted individual freedom to ensure
life freedom for all

Read the following short passages. After each passage, you will find several questions based on

what is stated or implied in the passages. Answer the gquestions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of

everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of

the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a

curtailment of private liberty in order that you may enjoy a social order which makes your liberty a

reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we

must have a judicious mixture of both. | shall not permit any authority to say that my child must go to

this school or that, shall specialize in science or arts. These things are personal. But if | say that my

child shall have no education at all, then society will firmly tell me that my child must have education

whether | like it or not.

The author thinks that when a policeman signals you to stop on a road-crossing, he is :

(A)  behaving in a whimsical manner (B) interfering with your freedom to use the
road

(C)  protecting the liberty of all to use the road (D)  mischievously creating hurdles in your way
from some personal motive

Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

The rule of the road means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policeman, say, at a road-crossing steps into the middle of
the road and puts out his hand, he is the symbol not of tyranny but of liberty. You have submitted to a
curtailment of private liberty in order that you may enjoy a social order which makes your liberty a
reality. We have both liberties to preserve — our individual liberty and our social liberty. That is, we
must have a judicious mixture of both. | shall not permit any authority to say that my child must go to
this school or that, shall specialize in science or arts. These things are personal. But if | say that my
child shall have no education at all, then society will firmly tell me that my child must have education
whether | like it or not.

The author holds that :

(A) educating or not educating his child is a(B) educating or not educating his child is also

matter of personal liberty a matter of social liberty
(C)  choosing the school for his child is a matter(D)  choosing the subject of study for his child
of social liberty is a matter of social liberty
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Read the following short passages. After each passage, you will find several questions based on
what is stated or implied in the passages. Answer the questions that follow each passage.

There are still a few people in northern Europe who think that global warming might not be such a
bad thing. In Britain, where summer can sometimes seem to last little more than a few weeks, many
would welcome the idea of it getting a bit hotter. Unfortunately things are not so simple. Global
warming doesn't just mean that the world will slowly get warmer. Paradoxically, it could cause certain
areas to get colder - a lot colder. The latest predictions are that northern Europe could even be
plunged into an ice age. While areas of south-eastern Europe, such as Greece, would continue to get
hotter and drier, Britain could find itself, in the winter months at least, surrounded by sea ice. The
reason for this concerns the Greenland ice sheet. This is one of the biggest expanses of ice in the
world - around 1,500km long and 600km wide. It is so big that if it all melted sea levels would rise by
7 meters. Due to rising emissions of greenhouse gases, such as carbon dioxide from the combustion
of fossil fuels, this ice sheet is melting at an alarming rate.

Which of the following statement is incorrect according to the passage?

(A)  The Greenland Ice sheet is melting at an(B) Global warming can make colder place

alarming rate due to rising emissions of much colder leading them to the era of an
greenhouse gases. ice age.
(C) The Greenland Ice sheet is around(D) If Greenland Ice sheet gets melt, the sea
1,500km wide and 600km long. level would rise by 7 meters.
ENGLISH/PQRS

Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

P. himself

Q. achild

R. can usually feed

S. by the age of six months
The correct sequence should be
(A) QPRS (B) SRQP
(©) PQRS (D) QRPS
Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

You'll

P. know how to do it

Q.have to

R.because she does not

S. help her
The correct sequence should be
(A)  QSPR (B) SRPQ
(C) QPRS (D) QSRP
Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

P. She

Q. and neither have |

R. the assignment yet

S. hasn't finished
The correct sequence should be
(A) QRSP (B) QPSR
(C) PQSR (D) PSRQ
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Each of the following items in this section consists of a sentence, the parts of which have been
jumbled. These parts have been labelled P. Q. R and S. Given below each sentence are four
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the
sentence and mark your answer.

Every experience in life makes

P. on some of the cells

Q. or other nerve centres

R. of the brain

S. animpression
The correct sequence should be
(A)  SPRQ (B) QRSP
(©) RSPQ (D) PSQR

Movement of materials to different parts of cytoplasm and nucleus is generally carried out
by/siR@bea ik oca @ fafm 9 & gl &1 dgaq am=a: feae grr fear smar 272

(A)  Ribosomes./ rgat¥d (B)  Mitochondria./ sirgetaifsgar

(C)  Lysosomes./ argaraid (D)  Endoplasmic reticulum./ gerwifsae feagean
Squamous epithelial cells are found in the inner lining of/erc®! Suden HIRHE feus iaRes rax o
urg St 272

(A)  Oesophagus./ ara=Telt (B) Small intestine./ gaia

(C)  Ducts of salivary gland./ @R ofer @1 afead (D) Kidney./ 3o

In mitochondria, ATP synthesizing chemical reactions take place in the/arseisifgar & fed =rr § ¢l
. Wrdwrer vwrafe afifpang sidy 82

(A) Outer membrane./ @1 f3reelt (B) Matrix./ #fgaa
(C©)  Inner membrane./ 3mcR® farecht (D)  DNA of mitochondria./ wigeisif~gar & g
u.

Which one of the following is not used as a raw material in the manufacture of glass? /®ia & fomfor &
frr=ifaRaa o @ fewer vaT o=d A1ad & ©u A A fHar sar 82

(A)  Soda/ ster (B)  Alumina/Rqfir

(C) Borax/ aRaw (¥asrm) (D) Gypsum/ foreas

Which one of the following is the chemical formula of Hypobromous acid ? /f=ifafaa & @ s
BUIGIY I &1 EEG g3 27

(A)  HBro, (B) HOBr

(C) HBr (D)  HBro;

Which of the following pairs of physical phenomenon and the discover is/are correctly matched ?
[ifae aReet ok SUs wiveal 4 ddfta Frsfalaa 4 4 sl9—w/aa—a 3@ ¥ wu 4 gifaa /272

1. James Chadwick ; Photoelectric  effect/ <iva Jdsfas : yerrfaga wwE
2. Albert Einstein ; Neutron/ R rerd AT I : B CAE|
3. Marie Curie ; Radium/ LN R : NEDL
Select the correct answer using the code given below./ i3 fag w¢ ®e &1 w7 H* wd IR gy -

(A) 1,2and3/1, 23k 3 (B) 1and2only/ &aa 1 3k 2

(C) 2and3only/ aaa 2 ik 3 (D) 3only/ @9 3

In electrolytic refining of copper, the electrolyte is a solution of/am & faga—smweaeh uRsHror ),

faga—amacy fFr-ifaRad & 4 feaer faaga 272

(A) acidified copper chloride./ srefigpa @iux(B)  acidified copper sulphate./ srcfigd ®iwR
ECIRES ABT

(C)  potassium chloride./ ui?fRRrm Feivigs (D)  sodium sulphate./ wifsaw wewe

LED (a semi-conductor device) is an abbreviation that stands for/va.$.9). (v& 3efaras gfw) fFr=fataa

¥ 4 feaer G wu 27

(A)  Licence for Energy Detector./ @nmgda »ix(B)  Light Energy Device./ @ige geisit feagw
gToit fedaer

(C) Light Emitting Diode./ =iige ufaféw smts (D) Lost Energy Detector./ <ifve wasif fseaes
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Which one of the following statements is most appropriate about ‘Exercise Kavach’?/ ‘s @ad’ &
TR ¥, fFeafafaa 4 @ s o waffte suy® 272
(A) It is a military exercise of the Indian Army(B) It is a joint military exercise involving the
only./ 98 @dad AR AAATT ST A AN Indian Army and the Indian Navy only./ @z
21 Pdad ARAA gaiel AR AR SNET @
g A= ra 2|

© It is a joint military exercise involving the(D) It is a joint military exercise involving the

Indian Army, the Indian Navy and the Indian Army, the Indian Navy, the Indian

Indian Air Force only./ 38 @dd ¥RdA Air Force and also the Indian Coast

Jeddl, ARd AR R aRdE agder $1 Guard./ @ ARd™ oedHl, ARG AN,

Y A= IR 2 | ARAT agAT IR ARNT qeREd BT YW
A= T 2

Which one of the following statements is not correct in respect of the ‘Legion of Merit’ award?/‘<fis=
I AR’ yweaR & weg A frafafaa ol 4 @ sla—ar wd) = 22
(A)  This award is conferred by the President of(B)  This award was conferred to the Prime

the United States of America./ a8 YRR Minister of India in December, 2020/ us
Hg® d WRST @ Igufd gRT yaE e PR fews, 2020 4 9Ra @ g HA Bl
ST 2 | uaE fHar srar o |

(C) This was also awarded to the Prime(D) Itis the highest civilian award of the United
Minister of Australia, Scott Morrison./ s States of America./ dg Jgw® ST FMRSBT 1
gRGR I forn & yae w3 wic A4k &t walzd ANIR® gRHR 2 |

I ue= fobar wam o
In the recently concluded elections in December 2020, Faustin-Archange Touadera has won a

second term in office as President of one of the following countries. Identify the country./sra & ¥,
fedar, 2020 4 Fafes 4 wiRead—emaw ¢ew 1 fFr=faled 4 4 & <91 & Igufy & g 29 S Frfad &
forg Sfia ura @1 2| <2 &1 99 ygAIg |

(A) Central African Republic/ #1=a spia IvRTSa (B) Republic of South Africa/ =féror  smpiat

(Wge vibae Rufeas) R (Rufsas sife WIS gwier)
© Republic of Ghana/ amr wvrRisa (Rufsds (D)  Republic of Mozambique/ #isiidie RS
3w =rm) (Rufsars sife wiwiidi®)

Tableau of which one of the following States/Union Territory was adjudged best in the Republic Day
Parade, 20217/ wvids faaw ws, 2021 4, fafafaa 4 @ fea vsa/de vsa-—a3 @) site) &1 9dds siia)
® w9 ¥ guq fear w?

(A)  Ladakh/ =zra (B)  Uttar Pradesh/ s@x wdwr

(C)  Tripura/ fagzr (D)  Uttarakhand/ s=rEs

Which one of the following rivers is not a tributary of river Brahmaputra?/ fre=ifafaa # @ st ad
89S T4l B P <) T8 287

(A) River Manas/ =9 =€l (B) River Kameng/ &R =<

(C) River Mahananda/ wgrHsr =<l (D)  River Subansiri/ ga=iRr <Y

Which one of the following rivers is not a tributary of river Brahmaputra?/ fr=ifafaa & @ st ad
FEIYH 4l B WD 41 A8l 27

(A) River Manas/ sr=r4 <<l (B) River Kameng/ &R =1

(C) River Mahananda/ wgrHsT =€l (D) River Subansiri/ RCEIRN EE

The composition of gases in exosphere is/afgdsa # Aul &1 GAiw= T 2?2

(A)  Helium and Hydrogen./ giferm aiix sggio (B)  Neon and Oxygen./ fasifa il sitafio=
(C)  Neon and Hydrogen./ it @itk gggisa (D) Helium and Neon./ @ifaaw aiix faeita
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66.

67.

68.

69.

70.

71.

72.

73.

Consider the following statements about Light year : /u®rer ad & wdg § fafafag somf w faar
siforg : .
1. Light year is a unit for measurement of very large distances./ w&rer ast sifa—drd gRAt wow &1 73
21

2. Light year is a unit for measurement of very large time intervals./ s&rer a9 sifd—dre sra—siavra ard=
@1 AAD 21
3. Light year is a unit for measurement of intensity of light./ s&rer asf y&Ter @t daar #rea &1 w1536 2 |
Which of the statements given above is/are correct ?/ $ux faar w/far ¢ slF—ar/ala—4d &= ad)
2/2?

(A) 1,2and3/1, 233 (B) 2and3only/ &ad 2 3k 3

(C) 1and2only/ &ad 1 3MR 2 (D)  1only/ ®aa 1

At which one of the following places was a Shiva temple not constructed under the patronage of the
Chola rulers? /fFr=fafaa § @ fow w9 R gld sel & e 9 R w@few &1 fmfor 98 fean @ on?
(A)  Chidambaram/ fagezs (B)  Thanjavur/ dsiigR
(C)  Gangaikonda Cholapuram/ fitsier atargza (D)  Naneghat/ siotare
Which of the following statements about Saguna bhakti traditions is/are correct?/w[er wfts wuxisl &
LR H ferfafeaa kil Kij PIT—al/HT—4 EDE| KiE 3/2?
1. Saguna bhakti traditions focus on the worship of specific deities such as Vishnu or his avatars./
wor Afe wWog faRme Jqarel, 9, fawp a1 9@ s@art @Y smmem W afea &)
2. In Saguna bhakti traditions, Gods and Goddesses are conceptualized in anthropomorphic forms./
wer uRke wWowed A, dd) Td Q9drRl @ J@URIT AHAigd (mﬂ?ﬂagr)
|

wul q C) STl

Select the correct answer using the code given below /= fa&g ¢ ®e &1 9aT SR | IR Ffw -
(A)  1only/ @ae 1 (B) 2only/ ®ad 2

(C) Both1and2/1 3k 2 g+t (D) Neither 1 nor2/=sat 1, T & 2

Which one of the following was not a part of the dhamma of King Ashoka?/fr=fafRea # & wla—ar,
qYTE AP b SF &I HET 181 a17?

(A) Honouring the king/ Ir6iT &1 G119 &= (B) Tolerance of religions other than one’s
own/ 3 g @ fym gaf & ufa afesqar

(C) Respecting Brahmanas fsmiei &1 ww=(D)  Promoting the welfare of his subjects/ ara=i
BT USll & BTl &l derdl o+l

Which one of the following Harappan sites was a specialised centre for making shell
objects?/fr=ifaRaa § 4 S9—a1 gswr wId WU @1 axg¥ -1 & fog falRre o5 a1?

(A)  Lothal/<iterar (B)  Balakot/arem®ic

(©)  Amriferts (D) Kot Dijifeie €sh

Which one of the following colours may be obtained by combining green and red colours?/ /&R 3ilR
ara M Bl e o feafafaa 9§ @ si9—ar 37 wra fear s aear 272

(A) Blue/ e (B) Magenta/ #sier

© Pink/ pem€t (D)  Yellow/ dyer

Which one of the following regarding density of water at atmospheric pressure is correct ?/ argase™
TE W o @ °-d @ de" § f=fafaa 4 @ sia—ar ) 27

(A)  Density of water at 4°C is 1000 kg/m3./ 49°C(B)  Density of water at 0°C is 1000 kg/m3./ 0°C

R il &I '-ied 1000 kg/m3 &tar 2 | 4R Sl @I '+ied 1000 kg/m3 star 2 |
(C)  Density of water at 0°C is 100 kg/m3./ 0°C(D)  Density of water at 4°C is 10 kg/m3./ 4°C wx
R wTd @1 '-ied 100 kg/m3 glar 2 el &1 u+ca 10 kg/m3 grar 2|

A current of 1-0 A is drawn by a filament of an electric bulb for 10 minutes. The amount of electric
charge that flows through the circuit is/ta fasieh & e &1 dg 10 e @ faw 1.0 A arT Eigar 2 | uRu
A ¥ yarfed g1 ard dggd @y &) A@rAn fead gH?

(A) 0-1C (B) 10C

(C) e600C (D) 800C
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74.

75.

76.

77.

78.

79.

80.

A glass prism splits white light into different colours. This phenomenon is called dispersion of light by
prism. Which one of the following statements is correct?/ /ve ®fa &1 o wdad e & A= G §
faw ovar 21 59 9Ruear & iow gRT e &1 faguer (wusf) @ war 2 | fFr=fafaa & @ si9—ar som

&l 8?
(A) Red light will deviate the most and it is(B)  Violet light will deviate the most and it is

because of the reflection of light./ w&rer & because of the refraction of light./ y&rer &
A & HRU ATd YBI &1 gaiftre faged IJuadd & SR TN U &1 A4t Qg
BT | B |

© Red light will deviate the most and it is(D)  Violet light will deviate the most and it is
because of the refraction of light./ a®rer « because of the reflection of light./ & &
IUGd ® BRUI AT UBIT T Gaifers fagem WREAdd & SRV T uSer BT watte fageq
B | BT |

According to the New Cartesian Sign Convention, which one of the following is correct in respect of
the formula %= %+% where symbols have their meanings? /A¥ @rdifa fas uRurdl (New Cartesian
Sign Convention) & IaR ¥ %=%+% ® Wdg d§ frafafad @ sla—w 9 2, w8 gdiel @ A
amr=g 3ef &7

(A) It applies only to spherical mirrors./ ag ®a«(B) It applies only to spherical lenses./ a8 ®ad
Mo gdon R @ #lar 21 Moy A=Al W Ry ghar 2|

(C) It applies to spherical mirrors as well as(D) Itis an invalid formula./ @8 v& =1 g3 2 |
spherical lenses./ ag Wl gdwi @
gr—arer Mefta d=al o A arg Jar 2 |

Which one of the following statements is Not correct for light rays? /uerer fezen & fay fafalRea & @

PIT—ar U udl [gl 27

(A) Light travels at different speeds in different(B) Light travels at almost 300 million metres

media./ y@re, RE—Rw aweas 4 Re-—RE T« per second in air./ W&Te, Ay d @HT 300
/T BT B ?Wﬁiﬂ}ﬂ%{ﬁmaﬁw@mm
I
© Light speeds down as it leaves a water(D) Light speeds up as it leaves a glass
surface and enters the air./ warer, sid @ surface and enters the air./ w&rer, <id @
Sl @B Hdg bl AN Al @ IR qg d g Pid B Gde DI ART AT 8 IR aY A g
a1 B, 9l Sa@) aral N 8 ol 21 a1 B, 9l Sa@) arar € 8@ St 2

The gaseous product of a process in plants is a requirement for another vital process that releases
energy. Given below are four combinations of the process and product. Identify the correct answer.
[atal d, f&N v ufear &1 d¥m Sare, N =1 Sla ufban & fog smaws 2, foad oaf s i 81 =
39 ufhar iR S @ IR wAloA fag 1w & | 9 SR gfg|

(A)  Respiration and Nitric oxide/saws 3iR(B)  Transpiration and Water vapour/ arsareast=

aisfe® Afaarss 3R STel—arsy
© Photosynthesis and Oxygen/ uare—%zasv(D)  Germination and Carbon dioxide/ 3igzu
IR IC NI e IR P STATHITSS

The image we see in plane mirror is/zw wwad <dor # Wi ufafew <@d 2, 98
(A) real and thus can be photographed./(B) virtual and nearer than the object./ s

a’mﬁgg‘ﬁnésﬁvsﬂmw&'ﬁqﬁa@iﬁm glar 2 R fae &) gan 4 afte fee sl

Tl 2 | 2

(C) virtual and is laterally inverted./ smarft gla1(D)  real but cannot be photographed./ arsfa®s
2 3R yreda: Seer BT 2 | gldar @ feg Sua! wicl & A o1 "adl 2|

Numerically two thermometers, one in Fahrenheit scale and another in Celsius scale shall read same
at/vs BREIEE ausd R qgEvT dfeaad ausd & J auEfial § derna: 9 auaE W yeeEE uredie
Bhn?

(A) —40° (B) 0°

(C) —273° (D)  100°

Which of the following are the primary colours of light?/ /ffr=ifafaa ¥ @ werar & wafas 1 sl 2
(A)  Yellow, Red and Green/ e, oiret 3k a1 (B)  Blue, Red and Green/ <fiar, et 3k &1

(C) Violet, Red and Yellow/ 9%+, aral sk fia1(D)  Indigo, Violet and Green/ sy, dv=h @ik
BRI
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81.

82.

83.

84.

85.

86.

87.

Which member of the Constituent Assembly proposed the resolution that the National Flag of India
be a “horizontal tricolor of saffron, white and dark green in equal proportion”, with a wheel in navy

blue at the centre?/ GEYTT AT & FFY LT o UEATd I@T AT OF HRT Pl TSI CaaT haRAT,
Tthe 3R TR T W1 T FAT U § ORI Teh FHAT 30T H @lan *, Toraehr g & ANGar e
©?

(A)  Jawaharlal Nehru/STaTeX el Je® (B)  B.R. Ambedkar/dl 3R 3FIZHT
© Rajendra PrasadRToleg UdTG (D) sardar Vallabhbhai Patel/ EER TeAHNNTS
e

The superintendence, direction and control of elections in India is vested in?/ %R & IATdl P

3refreTor, EUS 3R AT Afea ¥

(A The Supreme Court of Indiay #Ra @ (B)  The Parliament of India/ ¥R 6 daE
gal=a =T

(C)  The Election Commission of India/ ®iRa@(D)  The Chief Election Commissioner/ qTg
fedTae 3t AT YR

Who among the following are the two civil servants who assisted the Constituent Assembly in

framing the Constitution of India?/ fAFamEIIEGd F ¥ P &I THAT Fad & Seeld AR & TEYTS

B I H HEYUTT FHT H Faradr & Ar

(A)  B.N. Rau and K.M. Munshi/ & ta 15 (B)  S.N. Mukherjee and Alladi Krishna-swamy

St % T N Aiyar/ TH. U H@l 3R Hedrdl .Heor-
7 T 3R
() B.N. Rau and S.N. Mukherjee/ & wer T5 (D)  K.M. Munshi and Alladi Krishna-swamy
3 T, T Aiyar/ &. TH TafiFl 3R 37eeler oo
kirziny

The major part of Central Asia is dominated by which one of the following language families?

(A) Indo-European (B) Sino-Tibetan

(C)  Austric (D)  Altaic

Who founded the ‘Seva Samiti’ at Allahabad in 1914? / 1914 H Sclleldliq H Sam Far gAY ’Hr TATTAT
Erda e

(A) Hridayanath Kunzru/ gcd<Try W (B) G. K. Gokhale / St & alr@el

(C)  ShriRam Bajpai / & TH areruA (D) 1.B.sapru/ & & &y

The creation of a Federal Court in India was advocated by which of the following Acts/Commissions? / AR

& g Srred & A & gvon Aedmnad # @ 6 KT / 3T g@rn @ g ode

(A)  The Government of India Act, 1919 / ®RA(B)  The Lee Commission, 1923 / 1923 & &
TIHR RTATH, 1919 BRI

(©) The Government of India act, 1935 / SJRH(D) The Indian Councils Act, 1909 / T gRug
TIPR AMITATH, 1935 AT, 1909

The ‘Tatvabodhini Sabha’ was established by / ‘dccaalRIAT T CART EATMAT FHIAT 14T AT
(A) Devendranath Tagore in 1839 / SdeaTTY &9 I(B) Keshab Chandra Sen in 1857 / 1857 & Whad

1938 & ag o
© Akshay Kumar Datta in 1850 / 1850 H 31&7J (D) Dwarakanath Tagorer in 1840 / 1840 #H
PAR gl CARBATY IR
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88.

89.

90.

91.

92.

93.

94.

95.

96.

The work Siyar-ul-Mutakherin, which describes the Battle of Plassey, 1757, was written by / cardr &r Flgl'é,

1757 T gUTel el dTell e EIR-3-FHAWRA o [F@r A7
(A)  Ssalabat Jung / FefTerd ST (B)  Qasim Khan/ @I0EH @rel
(C)  Ghulam Husain / T[T {i-@?-r (D) Ram Mohan Roy / TH Higd T

Who believed that the Russian designs were ‘an imminent peril to the security and tranquility’ of the Indian
Empire in 18367 / IRE HT (6 & Bollge 1836 # HRATT HWHGY Hr FI&T 3N A & ©HT
TUh 3MMHedd G AT?

(A)  Lord Auckland / ii$ 3iTerdls (B)  Lord Palmerston / &li$ UreREe

(©) Lord Canning / CIERCAGE (D) Alexander Burnes/ 3Toldaist dad

From which one of the following factory sites were limestone and chert blades mass produced and sent to
various Harappan settlements in Sindh? /fAeEIEd H & Pid T PREET T eIl TR IR T

i3 & 93 YA W 3UGA BhaT -7 AR 069 d EBed g0l Jieadi d A P
(A) Sukkur and Rohri Hills /{I’?-I-_gb_{ 3R W(B) Khetri in Rajasthan /ATSTEATA A wag
FX2:)

(C)  Chagai Hills /TS e (D) " Hills of Baluchistan/aeiadTe &Y UgIEAT

Advantage(s) of tectonic activity in Iceland include(s) :/esads # faadf e wfafafsr & ot o wufva & -
1. Source of natural geothermal energy/ udfdes w—adE FHul d  Ha

2. Creation of new land/ T qfx Cal oA
3. Attraction of tourists/ wHeal EJ ferg JATHY U
Select the correct answer using the code given below /<@ f&g ¢ He &1 91T S ¥ IR MY -

(A)  1only/ a1 (B) 2and3only/ #de 2 ik 3

(C©) 1and3only/ ®aa 1 3R 3 (D) 1,2and3/1, 23k 3

Which one of the following planets has the highest density?/fr=ifafaa & @ foa u' &1 g waifte
27?7

(A) Mercury/ =1 (B) Venus/ s

(C)  Jupiter/ geufa (D)  Earth/ gedl

Which one of the following is the longest Latitude?/fr=ifaftaa # &4 @lv—war drefaq siaier @ 2

(A) 90 degree Latitude/ 90 f&uT tam=n (B) 23.5 degree Latitude/ 23.5 fSiY steaier
© 0.0 degree Latitude/ 0.0 fsHY =tai=n (D)  66.5 degree Latitude/e6.5 fsut stari=n
Which one of the following is not a minor plate?/frfefaa & @ sl9— g we 71 27

(A)  Cocos Plate/ slaid we (B) Nazca Plate/ siroiar wie

(C) Caroline Plate/ @terga we (D)  Antarctic Plate/ sicafes wie

If it is 12:00 Noon in India, on which meridian will it be 7:00 am of the same day?/ afs wrRa ¥ U

12:00 99 &1 G9A @, a1 S & frw IraaR 4 gag @ 7:00 Toi1?

(A)  7.5degree E. Longitude/ 7.5 f&ift qd qwiar (B) 7.5 degree W. Longitude/ 7.5 f&ift uf¥am
ERIIIE

(C)  75degree E. Longitude/ 75 f&ift yd qeniax (D) 75 degree W. Longitude/ 75 fs#fY uf=m
QIMax

In a dicot pot herb, Vaseline/vegetable oil was applied on the upper surface of one leaf (Experimental
leaf 1) and on the lower surface of another leaf (Experimental leaf 2). Vaseline/Vegetable oil was not
applied on the control leaf. The plant was deliberately not watered for several days. Which leaf will
dry up last?/ /et § @t g fgdiousl e & e wd (GmEife g 1) @) $ud 9dg W) d9eq/aawfa dd
AR fFN g ud (e g 2) @ ) waw w dwdN/aTwfa dd @ wam) fREY 9w
FuefiF/awfa da 9d omar A1) 39 dld B SE-gEax b8 feql a@ urh 98 f&an wan) dia—ar o< ofd §
q@m?

(A)  Experimental leaf 1/ uraifire g 2 (B)  Experimental leaf 2/ uraifire ur 2

(C)  Control leaf/ fr@=oT g=n (D)  All the leaves will dry up simultaneously/
il 9l g wr g
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97.

98.

99.

100.

Transformation of Meristematic cells into specific permanent tissues occurs by the process
of fawsatas) i@ &1 falkre wrlt Hasl § wuiawer fea ufear @ grT gar 27

(A)  Cell differentiation./ ®ifr&1 Mg (B)  Cell division./ ®if¥ra®r fasre=

(C)  Cell multiplication./ @1 o (D)  Cell regeneration./ sI1f¥r&T gasta

Which one of the following acids is predominantly found in tomatoes? /fr=faflaa & @ @lw—ar
cHIeR # W@ w9 | YR STl 27

(A)  Acetic acidtdifes sra (B) Tartaric acid/ eréRa® sra

(C)  Oxalic acid/siiifas ara (D) Lactic acid/dfdes 3

Which one of the following statements about dihydrogen (H,) is not correct?/siggsgie= (H,) @& s
# frafafaa 4 @ sia—u1 soa wd a8 272
(A) H, is lighter than air and insoluble in(B) H, is inert at room temperature due to high

water./H, ag ¥ sea! gl @ R wa # H — H bond dissociation enthalpy./ 8=a H —
afaera =it 2 H ander faates el @ srer wm=g qg H,
afspa il 21
(C) H, reacts with alkali metals at high(D) A mixture of NO, and H, is known as
temperature to yield metal hydrides./ H, Syngas./ NO, 3k H, &1 fasor Rt & wu
Sed dudHE W &R organ & wrer affean A ST T @ |

ot 2, R a1g gisgss 991 2 |
Solder is an alloy of/aieer fr=ifaRaa & 4 fe=ir faseng 2872
(A) Cuand Sn./Cu sk Sn. (B) FeandZn./FeakZn
(C) Pband Sn./Pb six Sn. (D)  Agand Zn./ Ag =ik Zn.
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Timing: 120 minutes CENTURION DEFENCE ACADEMY M.M: 50
TA (MATHS + REASONING) TEST PAPER

MATHS /NUMBER SYSTEM
1. The unit digit in the product (77! x 6°° x 35%) is
(A) 6 B 2
Cc 4 d) 1
2. By adding x to 1254934, the resulting number becomes divisible by 11, while adding y to 1254934
makes the resulting number divisible by 3. Which one of the following is the set of values for x and

y?
A x=1y=1 B) x=1y=-1
©C x=-1y=1 D) x=-lLy=-1
3. If% == % , then the value of 22*¢ is
A) 3 B) 2
c 6 (D) 4
4. The numbers x, x + 2,x + 4 are all primes so x is
A) 3 B 2
<© 11 (D) 17
S. If n is a positive integer, then what is the digit in the unit place of 327 +1 4 22n+1 2
A 0 B|) 3
€ 5 D) 7
6. Let ‘@’ and ‘b’ be natural number, not necessarily distinct. For all values of ‘@’ and ‘b’ the natural
number would be
(A) (a+Db) (B) a/b
© a—>b (D) log(ab)
7. Consider the following statements:

I. The product of any three consecutive integers is divisible by 6.
II. Any integer can be expressed in one of the three forms 3k, 3k+1, 3k+2, where K is an integer.
Which of the above statements is/are correct?

(A) Only | (B) Only 1l
(C) Bothlandll (D)  Neither I nor i
8. If the sum of two numbers is 18 and sum of their square is 164, then the smallest number is
(A 8 B) 6
<€ 12 (D) 10
9. What least value must be given to *, so that the number 84705*2 is divisible by 9?
(A 0 B 1
© 2 O) 3
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Consider the following statements:

I. In a given whole number, if the sum of the odd numbered digit is equal to the sum of even
numbered digits, then the number is divisible by 11.

Il. In a given whole number, if the difference of sum of odd numbered digits and even numbered
digits is divisible by 11, then the number is divisible by 11.

Of these statements

(A) Only | is correct (B) Both | and Il are wrong
© Only Il is correct (D) Both | and Il are correct
The number 444 444 444 444 is divisible by

A 3,11 B) 3,7
() 51 () 911
Let X be a real number such that 0 < x < 1. Of the following the correct statement would be

(A)  the positive square root of x isequaltox (B)  the positive square root of x is greater than
X

(C)  the positive square root of x is lessthan x (D)  the square of x is greater than x
Which one of the following is a prime number?

(A) 161 (B) 171

© 173 (D) 221

What can be said about the expansion of 212" — 64" where n is a positive integer?
(A) Last digitis 4 (B) Last digit is 8

© Last digit is 2 (D) lasttwo digits are zero

All prime factors of 182 are

(A) 2 and 13 (B) 2and7
(©) 2,7and 13 (D)  None of these

If n is a natural number than v is

(A) always a whole number (B) always a natural number
(C) sometimes a natural number and(D) always an irrational number
sometimes an irrational number

235.235235235........ is a/an
(A) integer (B)  whole number
(C) rational number (D) irrational number

Consider the following statements:

A number a;a,aza, is divisible by 9, if

l. a; + a; + a3 + a4 + as is divisible by 9.

Il. a; —a; + a3 — a4 + as is divisible by 9
Which of the above statements is/are correct?

(A) Only | (B) Only 1l

(C) Bothlandll (D)  Neither I nor i

What is the total number of prime number less than 100?

(A) 25 (B) 30

< 24 (D) 26

Which among the following is the largest four digit number that is divisible by 887
(A) 9988 (B) 9966

(C) 9944 (D) 8888
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

Which one of the following is rational?
(A)  Area of a circle with radius 1/7 (B)

(C)  Circumference of circle with radius 1/m (D)
Which one of the following is a correct statement?

(A) Decimal expansion of a rational number is(B)
terminating

© Decimal expansion of an irrational number (D)
is terminating

The unit digit in the product is (281 x 15 x 16 x 18)

(A) 6 (B)
€ 5 (D)
The prime factor of 2310 are

A 2,3,5711 (B)
© 2,384,7 (D)
The unit digit in the product (127)17° is

(A) 3 (B)
© 7 (D)
What is the last digit in the expansion of (2457)7°4?
(A) 3 (B)
) 8 (D)
In between two rational numbers, there are

(A) a finite number of fractions (B)
(C)  even number of rational (D)

Radius of circle with areal/n

Radius of circle with circumference 1/x

Decimal expansion of a rational number is
non-terminating

Decimal expansion of an irrational number
is non-terminating and non-repeating.

o

2,4,6,7,11

None of these

w ©

\'

precisely two fractions
infinitely many numbers of fractions to
previous column

A ten-digit number is divisible by 4 as well as by 5. What could be the possible digit at the ten’s place

in the given number?

1,2,4
Ol 214!

,6o0r8
6or8

a whole number
a negative integer

an integer
None of these

atleast one prime divisor
one and only one prime divisor

7
None of these

(A) 0,1,2,40r6 (B)

(C) 2,3,4,60r8 (D)
Zero is

(A) a natural number (B)

(C)  apositive number (D)

If ’r is a non-zero rational number and 'x'is an irrational number, then the product rx’is
(A) a rational number (B)

(C) anirrational number (D)
Every composite number has

(A) no prime divisor (B)

(C) atleast two prime divisor (D)
When n is even, the product n(n + 1)(n + 2) is divisible by
A 24 (B)

€ o (D)
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

Consider the following statements:

If p is a prime such that p + 2 is also a prime, then
I. p(p + 2) + 1 is a perfect square.

II. 12 is a divisor of p + (p + 2), if p > 3.

Which of the above statements is/are correct?

(A)  Onlyl (B) Onlyll

© Both I and I (D)  Neither I nor I
If 'a’is an odd integer, the number a(a? — 1) is divisible by

A 8 B) 32

< 24 (D) 16

Consider the following assumption and two statements:
Assumption A number ‘ABCDE’ is divisible by 11.
Statement | E — D + C — B + A is divisible by 11.
Statement | E—-D+C—-B+A=0

Which one of the following is correct?

(A)  Only statement | can be drawn from the(B)  Only statement Il can be drawn from the

assumption assumption
© Both the statements can be drawn from the(D)  Neither of the statements can be drawn
assumption from the assumption

If ‘@’ is an even positive integer and ‘b’ is an odd positive integer, then which of the following
statements is true?

(A)  a(b—1)iseven (B) a(b-—1)isodd

C) (a—1(B-1)iseven (D) (a—1biseven

A three-digit number has digits h, t, u (from left to right) with h>u. If the digits are reversed and the
number thus formed is subtracted from the original number the unit's digit in the resulting number is
4.

What are the other two digits of the resulting number from left to right?

(A) 5and9 (B) 9and5

(C) b5and4 (D) 4and5

Which one of the following is correct?
The number 222222 is

(A) divisible by 3 but not divisible by 7 (B) divisible by 3 and 7 but not divisible by 11

© divisible by 2 and 7 but not divisible by 11 (D)  divisible by 3, 7 and 11
Which one of the following numbers is not a square of any natural numbers?

(A) 5041 (B) 9852

(C) 1936 (D) 6241

When n is divided by 4, the remainder is 3. What is the remainder when 2n is divided by 4?
A 0 B 2

C 6 (D) 3

The product of two number is y/x, if one of the number is yx—z then the other one is

GV ®) 5
y y?

© 2z o) ¥
%3 x2

A number is divisible by 25 only, if

(A)  the last digits of the number is zero (B) the last digit of the number is 5

(C) the last two digit of the number is divisible(D)  the last two digit of the number is divisible
by 5 by 25
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43.

44,

45,

46.

47.

48.

49.

50.

51.

The unit digit in (727 — 3% is

A O B 7
€ 4 (D) 6
If 42*8 is a multiple of 9, then the digit represented by * is

A 0 | 1
<€ 2 (D) 4

In a division operation, the divisor is 5 times the quotient and twice the remainder. If the remainder is
15, then what is the dividend?

(A) 175 (B) 185

(©) 195 (D) 250

Of the following

. 1.5 . V2

. 2+ 3V5 IV. V4

The number that are not rational are

(A) land I (B) Iland IlI
© | only (D) I, lll and IV
A prime number greater than 11 will never end with

(A) 5 (B 7

© 9 d) 1

Consider the following statements

I. A natural number is divisible by 2, if its last digit is divisible by 2.

Il. A natural number is divisible by 2, if its last digit is either zero or 2.
lll. A natural number is divisible by 2, if its last digit is even.

Of the above statement

(A) | and Il are correct (B) I and IIl are correct

©) Il and Ill are correct (D)  All of these
The product of a rational number and an irrational number is

(A)  anatural number (B)  anirrational number
(C) acomposite number (D)  arational number
The least prime number is

A O B) 2

(I d) 1

REASONING /MISCELLANEOUS/IAF X

Choose the correct alternative from the given ones that will complete the series. /f¢U 3TT Edeul H &
TN [HehoU el SiY ATl Bl G M|

24,60, 120, 210, ?

(A) 300 (B) 336

(C) 420 (D) 525
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52.

53.

54.

55.

56.

57.

58.

Select the related words/numbers from the given alternatives./f&T 31T el & ¥ HRIT Aee/ TEAT

Pl AT |

?:63:.08:26

(A) 12 (B) 9
(€ 18 (D) 15

Arrange the given words in the sequence in which they occur in the dictionary. / 7&T 31T QTg @l 38
P H TITEAT P T I Aegep!r F a1 &

1. Storm

2. Strap

3. Strangle

4. Stamped

5. Satire

(A) 51432 (B) 51342

(C) 54132 (D) 53412

In a code language, COMPUTER is written as OCREPMTU. How will DAUGHTER be written in the
same language? / v @oIs s 3%, COMPUTER @t OCREPMTU & ¥u # férzar siienr 81 DAUGHTER @1

NS N

3t ommar 3 B3 ferear Seen?

(A) READTHGU (B) ADTHREGU

(C) ADREGUTH (D) ADERUGTH

Select the related words/numbers from the given alternatives./fGT 31T mdheul H & TR QUec/ TE&AT
&1 gfaT|

Country : President :: State : ?

(A) Chief Minister (B) Prime Minister

(C)  Speaker (D)  Governor

TR (g oh TATA UX hieT T FE&IT 3TN |/What number will come in place of the question mark
15:32::32
(A) 66 (B) 56

(©) 49 (D) 48

Select the correct mirror image of the given figure when the mirror is placed to the right of the figure. /
fw s1e stips bl Al GUul B DI RIe B2 S GUUI DI DI D SIS 3R AT SIIAI 3

7
(A) / (B) \

(©) O)

N

ITe I & BT IS3T df S & [T/ If the calf for the cow is for the sheep

Y

(A) ==/ baby (B)  a&Rw colt
©)  dFa lamb (D) AEaw wolf
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59.

60.

61.

62.

63.

64.

65.

66.

67.

Pointing to a lady, Diwakar said, "Her mother's only grandson is my son.” How is that lady related to
Diwakar? / Teh Ffeell &1 3T AT I g, ferament o e, "SHPHT AT BT ThATT UIdT 1T JeT &1" I8
Ao e & Tamd &2

(A)  Aunty (B) Sister

© Mother (D) Wife

In a class, P has more marks than Q and R does not have the least marks. S has more marks than T
and T has more marks than P, who among them will have the least marks? / Tep gaT &, P F qrg Q &
3TIRIE 37h & 3N R o UTH el & A 37 A6 &1 S & T A HRIH 3eh § IR T & P & Tl 3 IRIh 3ih

©, 3 H EhAh UTH el H el 37ch Biar?

A P B Q

€ s o T

Choose the correct alternative from the given ones that will complete the series. /fU 31T Edeul J &
TN [Hehed T SiT ATl Y QI HM|

6,13, 28, 59, ?

A 111 (B) 113

(€ 114 (D) 122

Select the word pair in which the two words are related in the same ways as are the two words in the
following. / 2Teg, SIS T T Y T & Aeq 3 dle & AR § o1 O fAFAme0ad # af g 2

Vision: Blindness
(A) Cholera : Epidemic (B) Old age : Senility

© Deaf : hear (D)  Audition : Hearing

Three of the following four letter-clusters are alike in a certain way and one is different. Find the odd
one out. / TAFAIIET IR UF-HE & & clicl Teh AT s & Teh o8 € HR Tep 370197 & | (HWH i
(A) XAzC (B) PRRT

© CDDE (D) LMNO

Insert the correct mathematical signs in the following equation 13 3 2 1 = 15 / f[AeAmIEad 0T
1332 1 = 15 & FE& NI Hebel 3Tel

(A x =+ (B -~

© + -+ (D) = x -

Pointing to a woman, a man said, "The only brother of his only son is my wife's brother." How is the

woman related to the man/ Teh Ffeell &I 3R HER P TT Teh Y3Y & e, “SHh Schell 15 T JeT
A I 1 4TS & |” T8 Aol 38 G20 A BT YHR FFERIT ¢

(A)  @ral/ mother-in-law (B) TG 1 98T / Father in law's sister
©) N/ Aunt (D) &Y &fr g/ mother's sister

Select the combination of letters that when sequentially placed in the gaps of the given letter series
will complete the series. /38Rl & Ailsiol ®I alel 2 Sil b fGw s1e 38R %ach & 3icIcl ¥ Biid U A 31
Slol U2 2Rl Pl YT D3l

bac cab cd a ac ca

(A) bdabc (B) dcbac

(C) cadbc (D) dacbd

TILAL to LALIT in a code language, then how to write RAHUL in that code language? /EEF&?TEQT ATNT

& LALIT @Y TILAL T 38 ghe 3791 & RAHUL &1 38 [o@T SITeaT

(A) LUHAR (B) LUHRA
(C) RAHLU (D) LURHA
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68.

69.

70.

71.

72.

73.

74.

faF ATt # 3197 UG Hi-AT @] BIFET- What will be the next Term in the following series------
93.7,176, 297,378, ..........

(A) 459 (B) 427
() 387 (D) 403
Three of the following four numbers are alike in a certain way and one is different. Pick the number
that is different from the rest. /forFaifei¥aa ar Jiz=msil 3 3 diet v forfa 31 3 eire 3 iz U 3IcioT 3| 96

oiaR ol Sil qIfcpeIl A 3rerel Bl
(A) 338 (B) 217
(C) 28 (D) 65

If PRADESH is written as 1234567, how will PARAS be written?/379R PRADESH @' 1234567 /@1
ST &, T PARAS & h) [51WET SITTan?

(A) 13235 (B) 13236
(C) 13536 (D) 14436
Two statements are given followed by three conclusions numbered [, Il and Ill. Assuming the

statements to be true even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow (s) from the statements. / gl @ere diet forva |, 1 3z |1 &8 s1e & Dot

DI AT Alolol U3 off A q AMeII0=IT: ST el &b Are! fdRur w2 8, Al ok ¢ fdb derell 3 A dlor 31 forcapy Arfdbd

U A ORIl TIAI 3l

Statements: / ool

No crow is a bird. / @13 @31 edb ustl o1t 2

All birds are animals. / sft usft gy 3l

Conclusions: / forso;

l. Some animals are crows. / ©& Slleld? ®DId al

Il. Some animals are birds. / ®® Sitoraz ustt

[1l. No animal is a crow. / ®I$ SiieraR B3l oidt 31

(A) Only conclusion | and Il follows. /&ac(B) None of the conclusion follows. / forsad @1
forcetf | itz 111 1o B & IS 8t StoprvT o1t e 3

(C)  Only conclusion Il follows /dae forsmd 1II(D)  Conclusion Il and either conclusion | and 111
3IOAVI DAL & follows / forcmd Il sfiz forepd | 3fiR I
forotferRaa &

gdl & T ‘a1 e g9ft| 39Tel HedTs & $4T fea Sraraeh gt e e Ymar § a Siarael & 9’

fe=T arg - & @t / 1t will be 'Hoi Ashtami' on the day after tomorrow. This day of next week will
be Diwali. If today is Sunday then what day will it be four days after Diwali

(A)  ofar /Saturday (B) geeufddr /Thursday
© IEhAR /Friday (D) ==& & @IS A& /None of these

Select the one which is different from the other three responses./ T& &I I P St 3T did

UTIERIT3T & 37T §
(A)  JIMPS (B) MPSL
(©) DGIM (D) UXAD

Choose a different shape / Bfee 3TTehfel @l Fiaw

VI IX]IL

(A) (B) (C) (D)

A A (B) B
© c (D) D
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75.

76.

77.

78.

79.

80.

In the following question, select the related word pair from the given alternatives. / fFEIET T2
&, feT a7 meheul & | TR Ase; I Y AT

Fire:Burn::?:7?

(A)  Water : Drink (B) Wood : Trees

© Ice : Freeze (D)  Flower : Rose

Two different positions of the same dice are shown. Which numbers will be at the top if 4 is at the
bottom? / o &t U P S 31emlI-31eTel Mol {SAT 318 81 Al 4 el offcl 8 Al dDlol Al AT ATy HUR BA1?

i ¥ P
‘1:‘_2 A Q \“|
Q,}; Lﬁ
(A) 3 B) 6
€ 5 d) 1
Ram’s school bus was facing north — west when it reaches his school. After starting from his house
took one left turn, one Right turn another left turn to reach. If bus pick up Ram and starting towards

East direction then in which direction bus facing to reach school. / I &Y Fhel I8 STd 3eTch Fpel eh
UEdc § Y S - URES ST HHAT HIAT USAT AT| 30 TR A YE DA & TG T AT AN [FT, Th &l
S GER AT AN W Ugd= & FU| FfE 6 30 DY 38T & 3R g fem v 3T & @ely & A Tped Ugae
& 1T R TSI 3 I P TTHAT AT IS g

(A)  South-east /GETUT-qd (B)  North-east /5eeR-qd

(©)  North /3eR (D) south /gEToT

Which two sign should be interchanged in the following equation to make it correct? / =15 gl doiot &
fere fowrotferRiaa rftapzur 3 fdbol A1 usCI3l I UITUR Ader Bloll AIBE?

10+5+10x%8-10=16

(A) +and=x (B) -—and+

(©) +andx (D) - and—+

Find the figure that will come next in the following figure series. / @& 3Tehfd AT HIFST ST FAFAEOE
3TTpTAY sl 3 31T 3meaf|

DS ?
(A) @ (B)

© (D)

Find the wrong number from the given series/ &1 IT$ 3T ¥ Ield HEAT AT HITTT
1236, 2346, 3456, 4566, 5686

(A) 1236 (B) 3456

(C) 4566 (D) 5688
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81.

82.

83.

84.

85.

86.

The sequence of folding a piece of square paper (figures X and Y) and the manner in which the
folded paper has been cut (figure Z) are shown. How will paper appear when unfolded? /di®lz @B

& uD D3 (s X 3R Y) @l Alsol @I opd AR BRI A3l A ST g31l DEISI DIl 9RI 3 (RET $xd)| Aol 3ol U2

0= HA s om?
e —
a2
%
L
X v 7
B B [Ta
Pe® o CA:
(=]
°o o o0
(©) (e
g N
L____\u

Select the missing number from the given responses./ &1 18 UfAERAT3T 3 ¥ STTAT TEIT BT TTA B

5[5 ]2
2 |41
8 | 310
4030 »
(A) 10 (B) 12
(C) 13 (D) 20

10 I3 10 IRT T 10 & 3 @il &, AT Uh I Teh aRT 918 [Eholel Tl 3 @9 2/ 10 cows eat 10
sacks in 10 days, then how many days will one cow eat a sack of grass?

A 1 (B) 10

Cc 8 (D) 100

A series is given with one term missing. Select the correct alternative from the given ones that will
complete the series. / Teh T IH &Il o H1Y &1 SiTehl & fGT a0 [Eehedl & & TEY Eehed HT ThT Bl

S ST B T |

BT, DR, FP, ?

(A) HO (B) HN
© NH (D) OH

D is son of C and brother of E and E is niece of F. C is sister of B and aunt of A. Father of B has two
children i.e. one son and one daughter. If A is son of F then how is F related to C? /31, st w1 de1 8 3z §

@I A8 2 3R $, vw bl scAlsh 31 ft, «ft bl asor 8 3l &t D archt & &) acad B, Al v JeT 3 v ¢ AR v, vw @I
Je1 3 Al vw, A A DA e 3?

(A)  cousin-brother/ PO HTS (B)  Aunv =m=h

(€)  sister-in-law/ smafY D) sister/ gt

Choose the correct alternative from the given one that will complete the series./ & a8 S@oT & |&T
[Eehed Tl ST STl T GRT T |

9,17,31,57, 7, 205

(A) 102 (B) 104

©) 107 D) 109
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87.

88.

89.

90.

91.

92.

93.

Pointing to a lady a man says that she is the only daughter of my son’s maternal grandmother. How

is lady related to man?/WﬂﬁﬂT@fﬁTg?Wﬂﬁ?Wmaﬁ?ﬂ%I:Eﬁa'f?ma‘é?ﬁrm?—ﬁiﬁr
Sehollcl 9E1 ¥ T ToU & ) HAmId §2

(A brother/s$ (B)  sisterfaea

©)  wife/aeht (O)  mother/ &

Pointing to a lady on the platform, Manju said, “She is the sister of the father of my mother’s son.”
Who is the lady to Manju?/mwwmiﬁw?&mm?, Ho[ A el "aE AU Al & 9 & T
B T 1 "Fo] 5 [T BT AR 2

(A)  Mother/t (B)  sister/aga

©)  Auntar (D) Niece/srcirsi

Select the one which is different from the other three responses./ T &T T Y Sl 3T did
UTAERATIN & 37eT9T B

(A) 405 (B) 60-12

© 324 (D) 88-11

In the following question, select the odd word from the given alternatives. / fFmEIIET U H, U
9T [HehoUl # I FUH e Bl AT

(A) Ludo /e (B)  Chess/ eraat

(©)  Polo/arelr (D)  carrom /&=

You go 7 m North, turn right for 3 m, then turns right again for 7 m and then go to the left. In which
direction, are you now?/ 310 7 #IeX 3k & STd &, 3 A1 & [T &1V e &, T 7 e & BT I 8

aId F5d & 3R IFT a1 3R STl &1 379 319 g e & 82

(A) North/3cX (B) South/gEToT
©) East/qd (D)  westalRa#

In a row of girls, Rita and Monika occupy the ninth place from the right end and tenth place from the
left end, respectively. If they interchange their places, then Rita and Monika occupy seventeenth
place from the right and eighteenth place from the left respectively. How many girls are there in the

row?/ SISERAT T Tk Ufrd &, Tar iR A AT g1fea ©R T Ald T U 3R 910 D @ c8d TATT T &1
Ifg T US TATAT P Geef ¢ &, df Jar 3R AfFRT FALT: g T TIed TATT W 3R a I 36Red
TUTT T I&d | UfFd F Ehdel TsERdT 82

(A 25 (B) 26

< 27 (D) Data inadequate

How is my father's sister's son's daughter related to me? / A AT & T& & d¢ H I JSH FHE
UhR TFdfedd &

(A) PO &%t /cousin sister (B)  o7ciish /Niece
(©)  gga/sister (D) @ /Aunt
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94.

95.

96.

97.

98.

99.

100.

Find the figure that will come next in the following figure series. / @& 3TThfc ¥ BITSTT ST TAFATAIES
3MpT Al F 33T e

=

(A) (B)

© (D)

Select the one which is different from the other three responses./ T &I IS P Slf T did

TfARAT3IT & 37697 &
(A) Newspaper (B) Press
(C)  Edition (D)  Audition

Three of the following four words are alike in a certain way and one is different. Pick the odd word
out./ foraiferRad arR orsci 3t 3 diel v foifa a3l 31 v I3 3 3R v 31! 31 fawe 9r6s ol |

(A) Krishna (B) Mahanadi
(C) Tapti (D) Godavari

What will come in place of question mark/ ? ds LFkku ij D;k vk,xk?
Question Images

© X. ::

Answer Images

o o)

(A) (B) (C) (D)

2

A A (B) B
<€ c (D) D

If13 =75 =5731, 27 x 34 =4372, 15 x 42 = 24531

Then 16 x 36 =7/ Tfg 13 x 75 = 5731, 27 x 34 = 4372, 15 x 42 = 2451 [ 16 x 36 =?

(A) 1636 (B) 6361

(C) 576 (D) 3616

If in a certain language, TEACHER is written as LMKJNMP. How will HEART be written?/ If& T

AT smar &, TEACHER & LMKINMP & U & [67@T ST & | HEART & BT SITTan?

(A) NMAPL (B) NMPKL
(C) NPKML (D) NMKPL
A class of boys stands in single line. One boy is 19" in order from both the ends. How many boys are

there in the class?/ ST T TUeh IIT Uehol Ul H WaT | Sl BRI T Teh TISehl 19 af &| haTl & Fhda

CES -
A 27 (B) 37
(C) 38 (D) 39

27 | MOB:9795977779,9795977776 LUCKNOW- INDIRA NAGAR, ALAMBAGH ‘Come to Learn...Go to Serve...!




ANSWER KEY

/6.
77,
/8.
79.
80.

81.

82,

83.

84.
85.

86.

87.

88.

89.

90.
91.

92.
93.
94.
95.
96.
97,

98.
99.
100.

ol.

52.

el
54.
55.
56.

Sf.

58.

99.

60.
61.

62.

63.

64.
65.
66.

67.

68.

69.

70.
71.

72.

73.
74.
75.

26.

21.

28.
29.
30.
31.

32.

33.

34.
35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

10.
11.

12.
13.
14.
15.
16.
17.
18.
19.
20.
21.

22.

23.
24.
25,

MOB: 9795977779, 9795977776 LUCKNOW- INDIRA NAGAR, ALAMBAGH ‘Come to Learn...Go to Serve...!

28|




